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Year 4 Maths Home Learning Pack 

	Monday
	Complete pages 2 - 6

	Tuesday 
	Complete pages 7 - 9

	Wednesday 
	Complete pages 10 - 11

	Thursday 
	Complete pages 12 - 14

	Friday 
	Complete pages  15 - 16
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L.O – Count in multiples of 6, 7 , 9 , 25, 1000. 
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L.O – Order and compare numbers.
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L.O– Using place Value
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L.O –TBAT solve word problems. 
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L.O –Challenge 
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L.O – Adding using column methods. 
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L.O –Subtracting using column method. 
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L.O –Solving problems
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L.O – Using commutativity. 
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L.O TBAT multiply 2-digits by 1 digit. 
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L.O – TBAT interpret data[image: Macintosh HD:Users:Ash:Desktop:Screenshot 2020-04-07 at 09.14.31.png]
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L.O –Identifying angles. 
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L.O –TBAT tell the time

[image: Macintosh HD:Users:Ash:Desktop:Screenshot 2020-04-07 at 09.20.32.png]
image3.png
o
w K ¥y Challenge A

Choose a starting number and count in és, 7s and 9s from that number.
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Complete the following sequences:

) 1013

b) 10 472

[O

d) 12293

€) 6038

| J—

g) 26 671

h) 19 337

2013 3013

9472

1720

25 671

[

j) 66 049

65 049

5706 6706 7706

5013
7472
9293
8038 9038
10 720
23671
22337

47 405 48 405

5472

9706

8293 7293

11038

8720 7720

2167

23337 24337

49 405 50 405

62 049 61049
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Complete the following sequences:

@25 5075 125 1325 275 225 200
b) 175 150 100 50 9 450 425 400 ____ 350
125 150 ___ 200 ___ 250 625 575 550 525

d___ 175 150 125 100 D700 ____ 750 775 ____ 825

) 275 325 350 400 P 950 925 875 850





image6.png
2156

1211

5369

1456

5786 |

2191

6819

1126 | 9105

8888

2145

2399

1365 |

9499

5876 |

9091

5010

o151 [ 8527

3013

Compare and order the numbers above, from smallest to largest.

Iy

Largest

Smallest
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Can you write the following amounts in numerals?

. Three thousand, five hundred =

. One thousand, three hundred and eight =

. Eight thousand, seven hundred and one =

. Two thousand, nine hundred and two =

. Six thousand and sixteen =

. One thousand, nine hundred and nineteen =

. Five thousand, five hundred and five =

What are the values of the underlined digits?
. 889 = 2. 165= 3. 442 =
. 821+ 5. 1595 = 6. 2655 =
. 1101 = 8. 7071 = 9. 8888 =
. 6707 = 1. 6767 = 12. 3121 =
Can you circle the digit that is equivalent to the written amount?
. Fifty 8050 2. Thirty 1930 3. Three hundred 2379
. Eighty 8081 5. Twenty 2222 6. Five hundred

. Seventy 7075 8. Eight hundred 8887 9. Six hundred
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1) My bike is locked. My combination
includes these numbers 526. It is the
smallest even number.

4) My padlock has a combination. It is 4
digits and it is the smallest possible
number using 8657.

What is my combination ? ___ What is my combination ?

2) My suitcase is locked and I need to get
my clothes packed for holiday. The
numbers are 892. It is the biggest odd
number.

5) I need to open my safe for some
money. The numbers are 7431. It is the
smallest even number

What is my combination ?

What is my combination ?

3) My gate is locked . T know the number
begins with a 3, but I can't remember the
order of the numbers. The other numbers
are 519, It is the biggest number.

6) My alarm has gone off and I need to
key in my code to turn it off. The numbers
are 5860. It is the largest odd number.

What is my combination ?

What is my combination ? 3
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Spring Code Breaker

Solve the calculations and use the code breaker to spell out the spring-themed words.

26 | 25 | 24 | 23 | 22 [ 21 [ 20 [ 19 [ 18 |17 |16 | 15 | 14
13121110 98|76 |5 | 4]3]2 1
4 of 100 20f 50
13x2 + of 52
72+:9 & of 140
4xt Lof75
3 of 66
s [ e ]
38+ 2
o [anewer T i
"1"' 77+ 11
20f38 3x8
3x6
108 + 12
3x8
132+ 11
2x8
88 < 11 40:5
24+3
+of 150
112 48+ 8
3 of 100 130 + 10
5x 4
)  [answer [T ]
250 + 10
18+3
26+ 2
+of 26
16+ 8
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a836 2 2547 3 3191 4 7133
1012 7999 4613 1038
+9278 +7808 +9695 +5556
4419 6 5706 7 2105 8 5331
2074 5292 7059 4051
+2077 +6311 +6434 +5656
6464 10 6533 n 1259 12 5086
1380 9498 7217 7459
+5044 +8089 +7831 +3149
4287 1% 5140 15 9888 16 8928
6975 8004 4691 4529
+3366 +7914 +1551 +5110
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Challenge:

1

7894 2 7425 3 2882 4 6746
-3918 -6773 - 6443 -5816
6873 6 7043 7 7861 8 a803
-5175 -5878 - 7200 - 1985
7327 1 7178 " 5637 12 2877
-5309 -2906 - 4447 -2498
7450 % 7723 15 6527 16 5568
-3219 - 6962 - 4450 -2319
a_4s 2 265 2 5.7 Y 2.8
-_5.6 1 6_ -2_2_ - 63
171_ _368 4971 1075
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1. What number is 3006 more than 46952

2. Subtract 6725 from 8053.

w

What number is 4340 more than 50607
Calculate the difference between 3212 and 2046.
Add £23.71 to £78.46.

What number is 5002 less than 7001?

Increase £76.83 by £22.71.

What number is the sum of 6060 and 2413?

© ® N & »

Decrease 2973 by 628.
10. What is added to £45.62 to make £87.00?
11. What number is 4612 minus 960?
12. Take £6712 from £8000.
13. IfIincrease a number by 2097 and get 4651, what number did I start with?
14. Add together 5892 and 3015, then subtract 6719.
15. How much smaller is 4237 than 51382
Challenge

Using the digits 1-8, how many different ways can the digits be arranged to make 2 numbers
whose sum is 9999?
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Write the alternative number sentences for these multiplications

3x5=15 or __x__ =15
10x2=20 or __x__ =20
9 x 10 = 90 or __x__=90
7x5=35 or _x_ =35
6x2-= or x =
2x8= or x =
10 x5 = or x =

5x5= or x -
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1. 24 2. 22 3. 18 4 26
4 x5 x5 x 3
5 12 6. 48 7. 41 8. 31
5 x 2 x 9 x 7
9. 44 10. 32 1. 62 12. 66
7 x 7 x 3 x 4
13. 82 14, 87 15. 94 16. 53
4 x 8 x 8 x 8
17. 85 18. 75 19. 68 2. 78
4 x 3 x 6 x 7
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2. The favourite sport of some children is recorded. Here are the results.Complete the bar
chart on the grid below from the given information.

Favourite Sport | _Football | Swimming | _Netball Rugby Hockey
Number of Children 9 10 s 5 7
People’s favourite Sports
10
s
<
8
-
]
5
T 4
:
2
£
z
o
Football | Swimming | Netball Rugby Hockey

Sport





image17.png
3. The favourite subject of some children s collected. Here are the results.
Complete the bar chart on the grid below from the given information. Decide on a scale

that fits the grid given.
Favourite Subject Maths Science | Computing | English PE
Number of children 13 7 1 14 12
People’s favourite Subject
s
2
3
z
S
®
4
2
H
5
z
Maths Science | Computing |  English PE

Subject
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Look at these different angles:

Right Angle - a square 90°.

Obtuse Angle - is greater than
a right angle but less than a
straight line (as anything over
180°is a reflex angle).

Acute Angle - is smaller than a
right angle.

Write the type of angle:

TN





image19.png
Read the time on these analogue clocks. Write each time in 12-hour and 24-hour formats.

In the evening In the afternoon

In the afternoon In the morning In the morning In the evening

In the morning In the aftemoon In the evening In the afteroon





image1.png
Manchester
Communication
Primary
Academy

with yo... for you... dbotdt yot.




image2.png
Complete the following sequences:

a)____ 12 18 24 30 f) 126 120 108 102
b4 42 ____ 28 4 9)99 108 126 144
___ 45 5463 8 h1M2 ___ 126 133 140
d90 72 66 60 ) 180 186 192 198
e)s56 70 77 91 210 203 ___ 189 175
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